| 3810 \ 3810 ¢ pEST
TYPICAL W—BEAM ¢ POST ¢ POST ¢ POST
GUARDRAIL JOINT
1905 933 933 1905
TYPICAL STRONG
POST SPACING -~ L75x75x6 ANGLE 19¢ ANCHOR
/ STRUT\ /~ CABLE
W150x14x1830 /
STEEL POST
/ =
I y. . aL /\wmc END TERMINAL
%I [o o] / Le 2o ol [o o] SECTION
\152x203 WOOD POS \W—BEAM GUARDRAIL
—_——— TYP. P.T. BCT CABLE ANCHOR
152x305x356 WOOD TRAFFIC FLOW BRACKET
SPACER P.T.
PLAN
SCALE N.T.S
1160 LONG TREATED BREAKAWAY
1160 LONG TREATED TIMBER BCT CABLE ANCHOR 4—16¢ SPLICE BOLTS WITH TIMBER POST
POST\ BRACKH\ NUTS\ /
q l q LLI LLI a | [=] \]
RAIL —
(E - I - ++ rn o y = 1 I 1 ¢_ RA”_
tp | q: Il n
.S
~3 BCT o
BEARING ©
PLATE
GROUND SURFACE -
5 508x150 STANDARD SCHEDULE
o I ' PIPE SLEEVE INSIDE 64
x HOLE
U/S OF WOOD POST

610x460x6 SOIL PL

—++

C/W 2—198x240 LONG
STRENGTH WASHERS TYP.

NOTE:
1. POSTS ARE TO BE SET BY INSTRUMENT FOR ALIGNMENT

AND GRADE.

||
W150x14x1830 | |
STEEL POST\\' |
| | IN
N Y
L

1525 LONG FOUNDATION

<<

2. BCT CABLE ANCHOR HARDWARE SHALL CONFORM TO
AASHTO TASK FORCE 13 REPORT 'A GUIDE TO
STANDARDIZED HIGHWAY BARRIER HARDWARE'.

3. LAP ALL GUARDRAIL SECTIONS IN THE DIRECTION OF
TRAFFIC FLOW.

4. ALL REQUIRED FITTINGS AND HARDWARE SHALL BE
GALVANIZED.

|
I
|
I BOLT. NUT &2-HIGH
I
|
[

5. CABLE ANCHOR TO BE TIGHTENED DURING
INSTALLATION TO TAKE OUT ANY SLACK.

L

W150 X 14 X 1830

1562 X 305 X 356

- /WOOD SPACER P.T.

PLAN
1:25

3810

952.5

1905

952.5

GROUND SURFACE

632

ELEVATION
1:25

¢ RAIL

TUBE TYP.
(.
CABLE ANCHOR TERMINAL ELEVATION
SCALE N.T.S
EFFECTIVE LENGTH=3810
3—19x63 SLOTTED 16—23x29 SLOTTED
50 | =215 /—HOLES HOLES\
g g (1]
[11] [11] l $ [11]
==
[11] [11] [11]
[11] [11] [11]
158 ! 952.5,\/ ! ,\/1 905 ! ,\/952.5 !158
A 4126
ELEVATION
A FINISHED THICKNESS OF RAIL TO BE 2.82mm SCALE N.T.S

NOMINAL STEEL AND HOT DIPPED GALVANIZED
AFTER FABRICATION.

W-BEAM GUARDRAIL

83
47

/

311

—It=
m SECTION A
U N.T.S.

B 786
—T+ 4-22 X 28 SLOTTED
g 628 HOLES
19 X 63 SLOTTED |
HOLE \——é[ ]ﬁ" ~ fm
5 S
ERTIA 5 S S=——c——
g 3
g :T;;F\_J
e 1=
[ [
108 108 \EM’NG /I_;\ SECTION B ElL_ZEVAﬂom
U N.T.S. -
BLANK LAYOUT
1:20 1%9
©
318 :
669

PLAN
1:20

THICKNESS OF STEEL=2.82mm
AFTER GALVANIZING

W-BEAM GUARDRAIL END SECTION

¢ POST

W150x14 STEEL POST

152x305x356 NEOPRENE SPACER
538 175
o
D
\

790

~—W BEAM GUARDRAIL

632

1830

EDGE OF SHOULDER

30090
POST SPACER DETAILS
1:20 320
50 M50
EQ|EQ
T 1 7!
LAP IN DIRECTION OF ) I {
ADJACENT TRAFFIC '

MOVEMENT (8 SPLICE
BOLTS PER LAP)

23x29 SLOTS ONE SPLICE

BOLT REQ'D. FOR EACH POST

RAIL SPLICE DETAIL
1:20

/— ROAD SURFACE

M16x2
MODIFIED

2000 \/ ' WASHER
180 =0 M24x3 PITCH THREADS \24x3 NUT
o X
WASHER 130 3 o (BOTH ENDS) -
10 198 (6x19) CABLE =
(] Iz 777 U777, 777 |W -
<
CABLE TO BE STD. SWAGE FITTING & STUD © L
M24x3 NUT SWAGE—CONNECTED ( STUD THREADED ENTIRE LENGTH) =-}—
BCT CABLE ANCHOR ASSEMBLY WASHER
SCALE N.T.S
400
SCALE N.T.S 9 200
—elje0 50 100 , 100 , 100 50 100 . 100
ol 70 /\ 0 —28¢ HOLE
35”‘1& ’_J_‘— <6 /\Q\g Y| —END PLATE END
_ 288 HOLE \/ PLATE &
of__| d 4 ) b = -
I\I A% [$)] ~N @ —
I % \R=1O © ¢ o a R
— == /( R=24 400x320x6 BENT \ 200x200x6
Q1 1. 41 PLATE 209 HOLES PLATE
=
END PLATE m SECTION C BRACKET BCT BEARING PLATE
SCALE N.T.S SCALE N.T.S SCALE N.T.S

U N.TS.

W-BEAM CABLE ANCHOR TERMINAL HARDWARE

GENERAL NOTES

1. THIS SHEET IS INTENDED FOR ILLUSTRATION PURPOSES ONLY AND NOT TO BE USED FOR DESIGN OR
INSTALLATION OF GUARDRAIL. ALL GUARDRAIL SHALL BE DESIGNED AND INSTALLED AS PER THE

V:\1137\active\ 113705751\ drawing\ 404 _working\sheet_files\05751s—504—quard—c2.dwg

METRIC

WHOLE NUMBERS INDICATE MILLIMETRES
DECIMALIZED NUMBERS INDICATE METRES

MANUFACTURER’S INSTRUCTIONS.

2. IF ROCK IS ENCOUNTERED DURING EXCAVATION FOR A 300 MM @ POST HOLE. A 500 MM ¢ MAY BE USED IF
APPROVED BY THE CONTRACT ADMINISTRATOR. APPROVED GRANULAR MATERIAL SHALL BE PLACED IN THE
BOTTOM OF THE HOLE APPROX. 65 MM DEEP TO PROVIDE DRAINAGE. THE SOIL TUBES SHALL BE FIELD CUT
TO LENGTH, PLACED IN THE HOLE AND BACKFILLED WITH ADEQUATELY COMPACTED MATERIAL EXCAVATED FROM

THE HOLE.

HSS 203x152x4.8

154
4

76
25
—=

FRONT ELEVATION

\22¢ HOLE FOR MOUNTING 1
ANGLE STRUT

436

22¢ HOLE FO
MOUNTING SO
\_

PLATE

1525

620

o| | 234 152, 234
=1
R

IL

234

oo

468

234

/— 22¢ HOLE TYP.

CABLE ANCHOR TERMINAL FOUNDATION

TUBE SOIL PLATE

SIDE ELEVATION

CABLE ANCHOR TERMINAL FOUNDATION TUBE

1:20

24

HEAVY NUT

\25¢x1.5mm DEEP

RECESS BOTH SIDE

00

R=35
R=35

0 (imy o
~ 2
e 100 MIN.— ]
400

8 6
-

00 i ©
N —
100 MIN. }

' 356

/ M16x2 THREAD PITCH

[Ce]
—

Sra)

32 }

NOTES:

1. ALL FILLETS SHALL HAVE A MINIMUM RADIUS OF

2mm.

M16x2
THREAD

PITCH \ 5?'\

M16x2
THREAD

BANY

[e2}

GUARDRAIL BOLT AND RECESSED

NUT

1:2.5

2. IF THE BOLT EXTENDS MORE THAN 6mm FROM
THE NUT THE BOLT SHOULD BE TRIMMED BACK.

==APEC

Certificate of Authorization

Stantec Consulting Ltd.
No. 1301

ENGINEER'S SEAL

5
P

THE CITY OF WINNIPEG

PUBLIC WORKS DEPARTMENT

WWARP PART 3 - CONTRACT 1

STA 2+922.4 TO STA 5+935

CITY DRAWING NUMBER

P-3345-47

SHEET OF

B.M. Do SIGNED DESIGN TEAM
UNDERGROUND STRUCTURES ELEV.
DRAWN
BY C.D.
SUPV. U/G STRUCTURES DATE
COMMITTEE CHECKED
BY -
NOTE: APPROVED
: BY --
LASATON. 07, WIDERGROUND, STRUCTURES A5
AVAILABLE. BUT NO GUARANTEE IS GIVEN ISSUED FOR TENDER | 3/04/08]V.M.M.
T AL e i A SR o [~ SSUED FORREVIEW Soazvm] ov sos D ot
CONFIRMATION OF EXISTENCE AND EXACT SV CONSTRUCTION
AN R SRR E S MR TS ISSUED FOR 90% REVIEW 13/02/22]V.M.M.| VERTICAL
BEFORE PROCEEDING WITH CONSTRUCTION.
NO. | REVISIONS DATE BY DATE 13/02/15 DATE

113705751

CONSULTANT PROJECT NUMBER

KENASTON BOULEVARD EXTENSION NB LANES
ELEVATION AND W-BEAM GUARDRAIL END SECTION

47 64

CONSULTANT DRAWING NUMBER

S-504




